[(4+4)+12 points| 2

2a. Make the sentences @ and @ into true statements by choosing one of the possible completions
for each of them. Indicate your choice by marking the [ in front of it with a v . No explanation is
required.

siny — vy sl
©® Thelimit lim TSNy —ysinT lf/exists [0 does not exist
(z,5)—(0,0) x? + y?

Si —ysinzx
® The limit lim = m?i y O exists [E/does not exist
(z,5)—(0,0) x4+ yt

2b. Choose one of the statements [0 @ and @/9 you made in part (2a), and prove it. Indicate
your choice by marking the [J in front of it with a v .
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